Qc§® éq‘g? 8. Dcﬁf{s.imple harmonic motion in a straight line and show that

X = a sin wt

can describe such motion. when x is the distance from a fixed point and a. w and ¢ have the usual

140 N/m to a fixed point g on a rough horizontal surface where the coefficient of friction is 1.
pis released from rest at a point @ where |[ga] =3 m. )
By considering the forces acting on p when its distance is (2-35 + x)m from g. prove that p moves in simple

harmonic mation as long as the string remains taut. State the position of the centre, o, of the simple harmonic
motion i.e. [go| and write down the amplitude.
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If the periodic time is assumed to be——calculate the time taken by the particle to travel fram 2 to a point Zm
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3 meamqgs.
A particle p, of mass 5 kg, is connected by a light elastic string. of natural length 2 m and elasticm\
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